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Graphing Parabolas WS

Graph each function.

1 y=(x-1)2+2 2. y=Dlx-27+5
Vertex = ( I"Z-) Vertex = (-115) R
t1 =) T1-2=7T2
_y=1 . x=Z
A0s.=__Y =514 A.O.S. =, 14-2=18
Is the vertex a max or@ Is the vertex a max or
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3, y@x+7)2—8 4, y=(x-5"-3
Vertex = (."7 ,—% ) Vertex = _| 5¢ —3)
21 T
r0s.=_ X="1 21 pl3=43 r0s.=__X=5 2o tH

Is the vertex or' min? &2 &‘I 3= “lIs the vertex a max or min?
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8. }/='\4x~1)2+4 6. y=5x+1)2
Vertex = (‘qu) Vertex = (_’,,. D_)
r0s.=__X=| r0s.=__ X=—|

Is the vertex r' min? Is the vertex

a max or :
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Write the equation of each parabola in vertex form.

b3
7_y= % (x0)*+o o_y== (x2'+0
Jerktx: (0,) vertex: (2,0)
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S A= Yy
Werite the equation of each parabola in vertex form.

N vl sa=-l

B 4 5 ¢
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10. vertex (1,2),£om‘r( D) 11. Vertex (-3,6), point (1,-2)

‘y= O-LX"h) v , ‘y’—‘ ax- h)”i—k "#_’L‘:{ a.="Yq
S=a(24Y+2 2= a(1+3)*+b b' ——
-5=0+2 a= - y= IX"DL{")- _%-s Ho&fbb /;g ';(Xﬂ) -}—EI

12. vertex (-1,-4), y-intercept: 3¢ 90,3) 13. Ver“rexil,—zj, y-in‘rer‘rc?p‘r: -1t (D, "l)
W x 10 410 YV =4 a - 100
g T 10 ~ip = jg & *
3= a.(0*1)- —|= o0~ Yio) = Yo
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Graph the quadratic equation on the provided grid. 4

¥
14, f(x)=(x=0)"+3 va‘-KY*LO,B) 15. f(x)=(x+4)*+0 Verfey: é.q,o)
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ppsdy™ SR upt
16. f(x)=énx-0)2+o vm,Lo,p) 17. f(x)=(x— 3) +4 wriex: (B‘l)
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a1 .k i :{‘\ SEIERE in s - EYERE
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¥ verdex : 12 vp3
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18. f(x):@x—é);‘;6&dmb (4-6) 19. f(x):&mz) +3 verkx: (—2,3)
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